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(@) zagedt
1- The student is asked to answer (a) or (b): (One Mark)
(a) Quantitative analysis. (p.33)
(b) Standard solution. (p.44)
2- The student is asked to answer (a) or (b): (One Mark)

(a) Due to Markownikoff's rule, the hydrogen atom of the reagent is
added to the carbon atom that carries a large number of hydrogen
atoms, while the halogen atom is added to the carbon atom which

carries the least number of hydrogen atoms. (p.142)

(b) Because each acid molecule is linked to another molecule by two
hydrogen bonds, while the two molecules of alcohol are linked by

only one hydrogen bond. (p.191)
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